Arvi

ka BS

Dagbridge HCP 2022-03-22

Partavling, 5 bord, 9 par. Antal brickor: 24. Medel: 72.2. Frirond (*) ger egen procent.
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Plac Par Poéng % Namn MID Klubb
1 6 85.0 59.04 Linnar Holgersson - Ingmar Andersson 21188 11748  Arvika BS
2 2 82.4 57.22 Eva Séderquist - Torbjérn Lindén 80255 46859  Arvika BS
3 8 80.9 56.16 Per-Enar Hedlund - Renée Blixt 31936 60183  Arvika BS
4 4 80.4 55.84 Margareta Skoog - Ann-Sofi Engelin 60184 60187  Arvika BS
5 7 78.1 54.27 Bjorn Andersson - Eva Silvén 60190 78302  Arvika BS
6 1 71.7 49.82 Karl-Erik Backelin - Kent Rorqvist 24959 2491 Arvika BS
7 10 65.5 45.49 Bo-Gunnar Torstensson - Anneli Vestlund 66547 66551  Arvika BS
8 3 61.2 42.50 Elisabet Rydbeck - Remy Carlsson 39543 41637  Arvika BS
9 5 44.6 30.97 Inger Nilsson - Krister G Karlsson 57105 3497 Arvika BS
1 4 EDKn8 Basta kontrakt 2 & K52 Basta kontrakt 3 49742 Basta kontrakt
Nord vD9 44 N =420 Ost v43 44 O =-420 Syd v42 2NT V =-120
Ingen + E1087 NS + D108 ov 49764
»E94 & ¢ v & NT #DKn963 & ¢ v & NT #1073 & ¢ v & NT
41095 462 N 7 107 109 4 EKn98764 103 N9 6527 «D8 4 K10 N23574
v 85 vEK10432 S 7 107 109 v K92 v DKn87 S966 27 v 87653 vKn9 S23574
¢DKn6 ¢95 06 36 33 + Kn96 ¢ EK7 O4 6 7 106 +383 ¢EKDKN5 0O 9 9 8 5 8
#D8753 #1062 V63633 *- 10854 vV 47 7 106 #EDKn2 #9865 V998538
4 K743 4D & EKn653
vKn76 vE1065 v EKD10
+ K432 ¢ 5432 + 102
#KKn #EK72 *K4
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
10 5 44 N= ¢5 420 6.0 0.0 10 5 3v0O-3 «A 150 6.0 0.0 2 4 24S-1 +8 -50 5.0 1.0
2 4 3NN= vA 400 3.0 3.0 7 8 34V+1 va -170 4.0 2.0 7 8 34S-1 +8 -50 5.0 1.0
3 6 3NN= vA 400 3.0 3.0 2 4 24 V+3 +8 -200 2.0 4.0 3 6 34S-2 +8 -100 1.0 5.0
7 8 3NN-1 vA -50 0.0 6.0 3 6 4eV+l v4 -450 0.0 6.0 10 5 44S-2 +3 -100 1.0 5.0
-1 3.6 -1 3.6 -1 3.6
4 aKn Basta kontrakt 5 4642 Basta kontrakt 6 4543 Basta kontrakt
Vast v K95432 ANT V =-630 Nord vKn 54 O =-450 Ost v9 44 O =-130
Alla +8 NS + K9763 ov ¢ Kn76543
#ED1096 & ¢ v & NT #DKn105 & ¢ v & NT *K76 & ¢ v & NT
4 D5 4 K74 N7 3683 4 EDKNn1053 4987 N9 5322 « E92 4 KKn10 N3 7554
v Kn6 vED87 S73683 v EK32 v 8754 S95322 vEKn543 v108 S37554
¢ EKn10952 ¢ KD64 059557 ¢54 ¢ EKn102 O 4 8 101110 2 ¢ K109 O 106 8 7 8
#KKn2 #54 V 5 107 5 10 | #E *42 V 4 8 101110 #ED53 109842 V 106 8 7 8
« E1098632 oK « D876
v10 vD1096 vKD762
+73 + D8 + ED8
#873 #K98763 #Kn
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poéang
3 5 3¢V+1 L) -130 6.0 0.0 3 5 24 V+2 vJ -170 40 2.0 3 5 1vS-1 2 -50 4.0 2.0
4 7 3NO+1 vT -630 3.0 3.0 4 7 14 V43 vlJ -170 4.0 2.0 4 7 1vS-1 2 -50 4.0 2.0
10 6 3NO+1 T -630 3.0 3.0 8 1 1aV+3 vJ -170 4.0 2.0 8 1 2vS-1 2 -50 4.0 20
8 1 3NO+3 »T -690 0.0 6.0 10 6 44 V= vJ -420 0.0 6.0 10 6 3¢DN-2 T -300 0.0 6.0
- 2 3.2 - 2 3.2 - 2 3.2
7 #9652 Basta kontrakt 8 & D8542 Basta kontrakt 9 4843 Basta kontrakt
Syd vE74 3v S =140 Vast v K982 ANT V =-430 Nord v KKn1083 44 O D -1200
Alla +8 Ingen 4765 ov +5
#EK852 & ¢ v & NT *2 & ¢ v & NT #K1085 & ¢ v & NT
4 KDKn84 4E7 N9 296 2 4E976 4K103 N35 443 4 KDKn5 4 E10976 N 8 5 104 6
v Kn6 vD103 S92965 vEKn6 v743 S 35443 vE74 v9 S 8 5 104 6
+ ED5 ¢Kn109743 O 4 9 4 7 6 +D3 ¢ EKn10 O 107 8 8 10 4973 ¢ E10642 038397
#643 +107 V494786 #E1073 #KD85 vV 107 8 8 10 *762 293 V38397
4103 4 Kn a2
v K9852 v D105 v D652
+ K62 + K9842 + KDKn8
#DKn9 *Kn964 #EDKn4
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
5 8 2vS+2 K 170 6.0 0.0 10 7 6NV-4 a2 200 6.0 0.0 1 2 49y N= 9 420 6.0 0.0
1 2 3¢0-1 «Q 100 40 20 1 2 3NV-1 a2 50 40 20 4 6 3vN+1 4A 170 40 20
4 6 INO= v2 90 2.0 4.0 4 6 3NV+1 a2 -430 10 5.0 5 8 24 S+2 4K 130 2.0 4.0
10 7 3¢ O0+2 v8 -150 0.0 6.0 5 8 3NV+1 a2 -430 10 5.0 10 7 5vDN-1 a7 -100 0.0 6.0
- 3 24 - 3 24 - 3 24
10 & EKn3 Bésta kontrakt 11 4 D105 Bésta kontrakt 12 s E74 Bésta kontrakt
Ost v 10985 34 S =110 Syd vD9 54 S =450 Vast v EKn972 44 V D -1 100
Alla 97 Ingen + EKD865 NS + DKn10
#Kn853 & ¢ v & NT #Kn9 & ¢ v & NT «D9 & ¢ v &4 NT
4 K74 4« D986 N9 6767 49762 3 N 6 115 118 498 ~K3 N4 77965
v42 vDKn763 S96767 vEKn854 vK63 S 6 115 118 vK105 D86 S 47895
¢ Kn532 ¢ E104 036675 +Kn4 732 071711 ¢K432 497 095547
#E762 %4 V35675 &75 #KD10432 V 7 1 7 11 #EKNn62 #K107543 V 9 5 5 4 7
41052 4 EKKn84 4 DKn10652
vEK v 1072 v43
+ KD86 + 109 + E865
#KD109 »E86 »8
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang




6 1 2v0-2 vA 200 6.0 0.0 2 3 44 S+2 +J 480 50 1.0 2 3 34S-= «A 140 6.0 0.0
2 3 INS+2 *2 150 4.0 20 6 1 44 S+2 43 480 50 1.0 6 1 INO= 2Q 90 4.0 2.0
10 8 INS+1 6 120 20 40 5 7 34S+2 &5 200 20 40 5 7 44 S-1 *A -100 2.0 4.0
5 7 INS= &7 90 0.0 6.0 10 8 34 N-1 &7 -50 0.0 6.0 10 8 3v N-2 &3 -200 0.0 6.0
- 4 3.2 - 4 3.2 - 4 3.2
13 4 E865 Basta kontrakt 14 4 ED983 Basta kontrakt 15 4 Kn986 Basta kontrakt
Nord v D64 3NT O =-600 Ost v EK7 24 S =110 Syd v K83 3NT V =-400
Alla ¢ E43 Ingen +3 NS + K842
#Kn93 % ¢ v & NT 10842 & ¢ v & NT #E10 & ¢ v & NT
10 » KKn94 N3 4663 2107654 &K N8 6 586 43 » EK4 N36 374
vKKn95 v3 S 34664 v 953 v DKn106 S 86586 vED v 976542 S36374
¢ KKn985 ¢ 76 0108 7 79 ¢ KKn ¢ ED1095 05775686 +10963 ¢E7 0 107 9 5 9
*E72 #KD10854 V 108 7 7 9 +D65 *K97 V57756 #DKn9862 #K7 V 107 9 6 9
« D732 & Kn2 « D10752
vE10872 v 842 v Kn10
+ D102 ¢ 87642 ¢ DKn5
*6 #EKn3 #543
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poéang
1 10 2vS-1 T -100 6.0 0.0 7 2 340-2 ] 100 6.0 0.0 1 10 3vO= +Q -140 50 1.0
6 8 3#0= vA -110 4.0 2.0 6 8 3vS-2 +K -100 4.0 2.0 3 4 2v0+1 ¢5 -140 5.0 1.0
7 2 2NV +1 46 -150 2.0 4.0 1 10 2vO= L) -110 2.0 4.0 6 8 2NO+1 a2 -150 2.0 4.0
3 4 2vS-3 T -300 0.0 6.0 3 4 INO+1 3 -120 0.0 6.0 7 2 INV+3 46 -180 0.0 6.0
- 5 1.6 - 5 1.6 - 5 1.6
16 «D2 Basta kontrakt 17 97642 Basta kontrakt 18 « K87 Basta kontrakt
Vast v EKn75 54 N =450 Nord v10 3v O =-140 Ost v 109765 7NT O =-1520
ov + ED843 Ingen +E76 NS + D10
#E3 & ¢ v & NT #KKn64 & ¢ v & NT #954 & ¢ v & NT
210543 & K7 N 8 117 119 » EK108 # DKn N7 3455 #6432 «ED NOO320
vK106 vD8432 S 8 117 119 v D62 v EKn975 S7 4466 v- v EK42 S00320
4962 ¢ 107 0526 22 ¢ KKn1054 82 06 9977 ¢ EK643 ¢ Kn875 O 1313101113
#DKn8 #K1097 V52622 »2 10983 V69977 #DKn103 #EK2 V 1313101113
« EKn986 453 # Kn1095
v9 v K843 v DKn83
¢ KKn5 + D93 +92
#6542 #ED75 *876
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
4 5 3NN+1 v2 430 6.0 0.0 8 3 2¢V-2 vT 100 6.0 0.0 4 5 3NO+2 4] -460 6.0 0.0
2 10 5¢ N+1 #T 420 4.0 20 2 10 1a V+1 vT -110 3.0 3.0 2 10 3BNO+4 49 520 4.0 2.0
7 1 3NN= «9 400 20 4.0 4 5 1lvQ+1 a5 -110 3.0 3.0 7 1 6¢ V+1 v5 -940 2.0 4.0
8 3 5¢N-1 *7 -50 0.0 6.0 7 1 2v0+1 45 -140 0.0 6.0 8 3 6NO= v8 -990 0.0 6.0
- 6 4.0 - 6 4.0 - 6 4.0
19 D Basta kontrakt 20 #8743 Basta kontrakt 21 # KKn10965 Basta kontrakt
Syd v EK92 5v S =450 Vast vD5 3NT N =600 Nord v Kn8 34 N =140
oV ¢ 753 Alla +83 NS ¢E3
#EKD104 & ¢ v o NT #EKD103 & ¢ v &N #DKn4 & ¢ v & NT
4E1095 4 KKn86 N 8 10116 8 4 DKn2 4K1096 N 107 7 7 9 aD «E873 N667 97
v54 vKn3 S 8 10116 8 v763 vE1094 S 107 7 7 9 v K732 v 1054 S667 97
+102 ¢ EKn94 053275 ¢ Kn64 ¢ KD95 03656 4 ¢ KKn108 ¢ D65 0766 45
#Kn9732 #865 V53275 #0872 #4 V36564 #E1062 #953 V76645
#7432 «E5 442
vD10876 v KKn82 v ED96
¢ KD86 ¢+ E1072 49742
*- #Kn65 *K87
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
3 10 4vS+1 «7 450 50 1.0 1 4 3NS+1 +J 630 50 1.0 1 4 24 N+2 T 170 50 1.0
8 2 4v S+l ¢T 450 50 1.0 8 2 3NS+1 42 630 50 1.0 8 2 24N+2 &5 170 50 1.0
5 6 4¢vN= v3 420 20 4.0 3 10 2NS+2 a2 180 2.0 4.0 5 6 24 N= «9 110 2.0 4.0
1 4 6vyN-1 ¢ A -50 0.0 6.0 5 6 2#S+2 vA 130 0.0 6.0 3 10 24 N-2 +6 -200 0.0 6.0
-7 3.2 -7 3.2 -7 3.2
22 4974 Basta kontrakt 23 s E7 Basta kontrakt 24 a2 Basta kontrakt
Ost v K1095 ANT S =430 Syd vED4 4v S =620 Vast v D873 54 V =-450
ov + 1097 Alla + D43 Ingen + KKn
«D107 & ¢ v & NT #E10932 & ¢ v aN #DKn8653 & ¢ v & NT
& Kn5 K6 N6 6 9 1010 « DKn954 4 K82 N 7 10106 8 4 K10976 4 EKn85 N8 29 25
vE874 v62 S 66 9 1010 v 7652 v K10 S 7 10106 8 v 95 v6 S$829 25
+53 ¢ KD8642 06 7 3 23 +1076 ¢ Kn5 06 3373 ¢ 9742 + E8653 O 5 114 117
#E9864 #Kn32 V66323 *7 #KDKn865 V 6 3 3 7 3 #E10 *K72 vV 5 114 117
4 ED10832 41063 4 D43
vDKn3 v Kn983 v EKKn1042
¢ EKn + EK982 + D10
»K5 *4 *94
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
2 5 14S+3 #A 170 6.0 0.0 1 3 2#DO-2 +A 500 6.0 0.0 2 5 4y N= «A 420 6.0 0.0
4 10 24 S+1 ¢5 140 40 20 6 7 2NN+1 &K 150 40 20 1 3 3vS= ¢2 140 4.0 20
1 3 24S-= +3 110 20 4.0 2 5 2NN= LN 120 2.0 4.0 4 10 34 V+1 vQ -170 2.0 4.0
6 7 44 S-1 ¢5 -50 0.0 6.0 4 10 24 V-1 «A 100 0.0 6.0 6 7 44 0= vA -420 0.0 6.0
- 8 3.4 - 8 34 - 8 34
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